Ny’ 11'9qey//:dnysey rejiwis aas

Y BWgR~/St"09'6vT 0ST//-dNy 40 8p-ul|&8g-n) I|'80e)//-dnyuoirewulolul [ed1uyda)
INLH'863D/863D /P ul}eg-

Ritp://farbe i fu-berlin.de/ CE9B/CESBLONA TXT 1.PS
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 6/1

For any colour, Yw=100, Mex -0.8 0,0 0,8 1,6 ag=xly
0,8 M,...[max (m) chromatic value?], Parame
§ chromaticityl(Cqy) 0.0 sosMmbmszs 600 625 700  ter: Y
Vm ! V)FS)\ il
50
MA=S)
-0,8 e
e -1,6
495¢,E
>
8
CIE 1931 X s
= |
00 02 04 06 08 10 '
CE980-1A_6 CE980-2A_6
-08 00 0,8 1,6 2=(x-0,171)y -08 00 0,8 1,6 a=xly
Parame:
sosMmlmszs 60q. 625 700 M ter: Y
0\9 = 495¢ E Parame: 0,0 V=S, 52" m Lms7s 600 P| 625
ter: Y 50 700
MyES), 500c,E M\=S)49
-0,8 -0,8
510c,E
525¢,E =
-16 3
o
=)
£
> &
§ 49Be/ Sm 550¢,E 3
o For an co?our, Y,,=100, Mex & For any colour, Y,,=100, Mex
i [max () chromatic value?], ST | [max (m) chromatic value?],
S chromticity (ay, by) &' | chromaticity (ay, by)
CE980-3A_6 CE980-4A_6
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =(x-0,171)y
700
2 600P °22—8495¢E 0
’ s2Mm 5006.E Parame: g Parame:
V{=S; ! ter: Y M= ter: Y
M £ 510c,E
—0,§ 49 525¢,E -0,8
4
= 550¢,E =
=] (=2}
8 4b 3
o o
£ £
N &
~ o
o) LS =
47 For anj colour, Y,,=100, Mex <|=a7 For anly colour, Y,,=100, Mex
T [max () chromatic value?], i [max (m) chromatic value?],
£ chromaticity (ag, bs) o chromaticity (ay, by)
CE980-5A_6 CE980-6A_6
-08 00 0,8 1,65=(0,86¢-0,73-0,027)y -08 00 0,8 1,6 =Xy
Parame:
s2MMne7s 600 695 700 625 790  ter Y
Parame o o
ter: Y VA=S) o=
50 510c,E
-0,8 -0,8 M)\‘§ 525¢,E
=
N =
g :
g e
2 g
S o
g— okany colour, Y,,=200, Mex & For any colour, Y,,=
e (m) chromatic vglue?], S | [max (m) chromatic valusg],
£ ticity (s, bs) & | chromaticity (ag, bg)

CE980-7A_6

CE980-7N

CE980-8A_6

Y M C
oS 52 525 Munsell System Y,,=100, Xy=96,79,Y,,=100,00,7,,=111,46 B*u L
0857 M, C=2,V=1,2,5,8&9, Mex Xy=0,3140y,,=0,3243 +10 — g;%
oL CUEIELLY () *0:(30_[aO.n+aO.A+aO.Y])Y18(Y/Y18)1;§ — V=5
: — va1 B*g=(bo~[bo,n*bo,a+bo,v]) Y1(Y/Y19) — V=8
— = a9 = ag [x/y] +
—_ = bo = byo [ )
- ay0= 1, byg= ~0,4 A
. A* 0
, , , e
n = Mex _10 ' \k = g ' 10
X Y/IY1g-1 X
o0 &, aZV(YNm_l) 0,016 -0,011
495¢E bo y=bay(Y/Y15-1) T 0014 -0,010
azy=—0,017,b2y=0,012 0,003 -0,002
ag 4=0,000,b5,4=0,000 -0,0220,016
CIE 1931 X Munsell System Y,,=100,
i C=2,V=1,2,5,8&9, Mex T-10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*()
CE981-1A 6 CE981-2A 6
X,=96,79,Y,,=100,00Z,~111,46 B* , X,=96,79,Y,,=100,00Z,~111,46 B*,
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Xy=0,3140y,,=0,3243 +10 — ﬁ% %w=0,3140y,,=0,3243 +10 - ﬁ;
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